
Upon generating a final dataset, these were issues I had to resolve. I am totally unsure 
impact it will have elsewhere… 
 

 

 

 

 

 

 



I visited this whole section of code again 

 

 
 
 
 



 
I will now focus on the next area in the ChatGPT where there seems to be an error 

 
 
Unfortunately I will need to run the entire 3000 numbers again. 
I found a new issue and it all related to the new code I implemented, it needed a bit 
stringent conditions… 
 



 



It appears that it has completed the ChatGPT extract 3 successfully. 
However I was extremely aware that dataset did not include two consecutive transition 
elements such as Ascending, Descending, Ascending 
 
So I am going through all my test cases and found an issue as follows 
 

I am still quite doubtful on all my test cases when it reaches k==nums.length-2 
 
Once I have finished test cases, I will devise a few more in which it has to make various 
decisions at this point based on previous numbers… 



At the moment, I have found a failed test case as below: 
 
 

 

 

 

 



I consider this to be a highly critical change and I will run through test cases again from 
the top.. 
 
 
I found an issue with this test case 

 
I am finding that all issues occurring are related to the new code I introduced in this 
document. But I seem to be resolving them… 
 
Unfortunately I discovered one of my changes above was detrimental, but I found a 
solid workaround… It is now a case of undoing a change (see overleaf). 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 
 
Overleaf is the code that has been introduced: 
 
 



 
 
I will now try ChatGPT extract 3 again, all seems ok 
 
Before I go through all my test cases again, I am quite keen to revisit those test cases 
that failed in last documentation due to A combinations of A with A-D…. 
 
I will see if they still exist, note these are ONLY issues with the ticker. 
 
 
//small extract taken from second chatGPT extract.  ok, ticker=fail (USE EXAMPLE)     

        //40.1f, 40.1f, 35.1f, 35.2f, 35.3f, 35.2f, 35.1f, 85.6f, 85.5f, 85.4f, 85.3f, 85.2f,19.6f, 
19.7f, 19.8f, 19.9f, 20.0f, 19.9f, 19.8f, 63.5f     

 

 

 //3.7f,3.8f,3.7f,3.9f,4.0f,3.5f,3.6f,3.7f,3.8f,3.7f,45.5f,45.4f,3f,3.2f,3.3f  //ok, ticker=fail   A 
(A-D) 

 



 

//ISSUES THESE //Related to oversized or undersized ticker, it relates to transition and 
also standalone value occuring prior to it 

                //3.5f,3.6f,3.7f,3.8f, 3.7f,  3.5f,  3.6f,3.7f,3.8f,  3.7f,3.6f,  3.5f,3.6f,3.7f,3.8f  //ok, 
ticker=fail   (A-D) (A-D) A 

        //5.0f, 48.5f,28.6f, 28.5f, 28.4f, 28.3f, 28.2f, 3.5f,3.6f, 3.5f   //ok, ticker=ok  //issues     
D (A - too large) D 

        //28.6f, 28.5f, 28.4f, 28.3f, 28.2f, 3.5f,3.6f, 3.5f  //rule does not work DAD  //issues  
ok, ticker=ok 

        //It appears that ascendingcounter SHOULD NOT BE INCREASED IN THE NEW RULE 
IN THE COMPLETETICKER METHOD WHERE  

        //ascendingcounter==1 and descending in both directions.... 

          

        //29.9f,30.0f,28.9f,28.8f,28.9f,29.0f  //no issues ADA      //ok, ticker=ok 
 
 
I am now observing ticker being incorrect for a situation not experienced before. 
 

 
 
I will aim for now to discard these and try to acknowledge failed ticker whilst I go 
through test cases…. 
 
I might not be able to identify all of them given long test arrays.. 
 



I found another test case failing, it is similar concept to the above with new variable: 
 

 
 
This is another failed case which I remediated 
 
As I suspected earlier, all the scenarios are related to dealing with k=nums.length-2

 



The only other scenarios are having descending summary range and ascending 
summary range before it, and there are no issues… I also tried repeat numbers which 
match with the descent starting at k=nums.length-2 and no issues. 
I also changed the last range to ascending and no issues. 
 
 
 


